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BSEH PRACTICE PAPER (March 2024) 
CLASS: 12th (Sr. Secondary) Code: B 

    

Roll No.   

PHYSICS 
[Hindi and English Medium] 

ACADEMIC / OPEN 
[Time allowed: 3 hours]                  [Maximum Marks: 70] 

lkekU; funsZ'k% 

 1. ç'u&i=k esa dqy 35 ç'u gSaA 

 2. lHkh ç'u vfuok;Z gSA 

 3.  ;g ç'u&i=k ik¡p •.Mksa esa foHkkftr gSA •aM-A, •aM-B, •aM-C, •aM-D vkSj •aM-EA 
 4. •aM-A esa vBkjg (1-18) oLrqfu"B ç'u gS] çR;sd ç'u 1 vad dk gSA 
 5. •aM-B esa lkr (19-25) vfr y?kq mÙkjkRed ç'u gSA çR;sd ç'u 2 vad dk gSA 
 6. •.M-C esa ik¡p (26-30) y?kq mÙkjh; ç'u gSaA çR;sd ç'u 3 vad dk gSA 
 7. •.M-D esa nks (31-32) dsl vè;;u ç'u gS] çR;sd ç'u 4 vad dk gSA 
 8. •.M-E esa rhu (33-35) nh?kZ mÙkjkRed ç'u gSa] çR;sd ç'u 5 vad dk gSA 
 9. dksbZ lexz fodYi ugha gSA ;|fi •.M-A, B, C, D vkSj E esa vkarfjd fodYi fn, gSA bu lc iz'uksa 

esa vkidks ,d fodYi pquuk gSA 

10. vad x.kd dk iz;ksx oftZr gSA 

General Instruction: 
 1. There are 35 questions in all. 
 2. All questions are Compulsory. 
 3. This question paper is divided into five sections. A, B, C, D and E. 
 4. Section-A consists of eighteen (1-18) objective type questions each of 1 mark. 
 5. Section-B consists of seven (19-25) very short answer type questions each of 2 marks. 
 6. Section-C consists of five (26-30) short answer type questions each of 3 marks. 
 7. Section-D consists of two (31-32) case study type questions each of 4 marks. 
 8. Section-E consists of three (33-35) long answer type questions each of 5 marks. 
 9. There is no overall choice however an internal choice has been provided in 

Section B, C, D and E.  You have to attempt only one of the given choices in such 
questions 

10. Use of calculator is not permitted. 
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 1. fo|qr vkos'k dh CGS bdkbZ gSµ   1 

 (a) owQykWe (b) twy (c) iSQjkMs (d) LVsV&owQykWe 

  CGS unit of electric charge is  
 (a) Coulomb (b) Joule (c) Faraday (d) Stat Coulomb 

 2. 30 lseh iQksdl nwjh dk iryk mÙky ysal 20 lseh iQksdl nwjh osQ irys vory ysal osQ laioZQ esa 

j[kkk gSA la;qDr ySal dh iQksdl nwjh fdruh gksxh\ 1 

 (a) +50 lseh (b) –60 lseh (c) +10 lseh (d) –10 lseh 

  A thin convex lens of focal length 30 cm is placed in contact with a thin concave 
lens of focal length 20 cm. What is the focal length of the combination? 

 (a) +50 cm (b) –60 cm (c) +10 cm (d) –10 cm 

 3. 6000A° rjax nSè;Z dk izdk'k ,d lery ijkorZd lrg ij fxjrk gSA ijkofrZr rjaxnSè;Z gSµ 1 

 (a) 6000 A° (b) <6000 A° (c) >6000 A° (d) dksbZ Hkh ugha 

  Light of wavelength 6000Å falls on a plane reflecting surface. The reflected 
wavelength is: 

 (a) 6000 A° (b) <6000 A° (c) >6000 A° (d) None of these 

 4. gksy gSµ    1 

 (a) bySDVªkWu dk ,d izfr&d.k 

 (b) ,d fjfDr rc curh gS tc ,d bySDVªku lgla;kstd ca/u NksM+rk gS 

 (c) eqDr bysDVªkWuksa dh vuqifLFkfr 

 (d) ,d o`Qf=ke :i ls fufeZr d.k 
  Hole is— 

 (a) an anti particle of electron 
 (b) a vacancy created when an electron leaves a covalent bond 
 (c) absence of free electrons 
 (d) an artificially created particle 

 5. fdlh p&izdkj osQ flfydku esa fuEufyf[kr esa ls dkSu&lk izdFku lR; gS\ 1 

 (a) bySDVªkWu cgqla[;d okgd gS vkSj f=kla;ksth ijek.kq vifeJd gSA 

 (b) bySDVªkWu vYila[;d okgd gSa vkSj iapla;ksth ijek.kq vifeJd gSA 

 (c) gksy vYila[;d okgd gSa vkSj iapla;ksth ijek.kq vifeJd gSA 

 (d) gksy cgqla[;d okgd gSa vkSj f=kla;ksth ijek.kq vifeJd gSA 

SECTION A 
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  In a p-type silicon, which of the following statement is true: 
 (a) Electrons are majority carriers and trivalent atoms are the dopants. 

 (b) Electrons are minority carriers and pentavalent atoms are the dopants. 

 (c) Holes are minority carriers and pentavalent atoms are the dopants. 

 (d) Holes are majority carriers and trivalent atoms are the dopants. 

 6. cksj f=kT;k dks a0 = 53 pm ysrs gq,] cksj ekMy osQ vk/kj ij Li++ vk;u dh] blosQ fuEure 

voLFkk esa] f=kT;k gksxh yxHkxµ    1 

 (a) 53 pm (b) 27 pm (c) 18 pm (d) 13 pm 

  Taking the Bohr radius as a0 = 53 pm, the radius of Li++ ion in its ground state, on 
the basis of Bohr's model, will be about— 

 (a) 53 pm (b) 27 pm (c) 18 pm (d) 13 pm 

 7. izdk'k bysDVªkWuksa osQ fy, fujks/h foHko fuHkZj djrk gS% 1 

 (a) osQoy vkifrr izdk'k dh vko`fr ij 

 (b) osQoy oSQFkksM osQ inkFkZ ij 

 (c) vkifrr izdk'k dh vko`fÙk o oSQFkksM osQ inkFkZ nksuksa ij 

 (d) vkifrr izdk'k dh rhozrk ij 
  The stopping potential for photoelectrons depends upon: 

 (a) Frequency of incident light only 

 (b) Material of the cathode only 

 (c) Both the frequency of incident light and the material of the cathode 

 (d) Intensity of incident light 

 8. lw{e rjaxsa fo|qr&pqEcdh; rjaxsa gksrh gS] ftudh rjax ijkl gS% 1 

 (a) ekbozQks gV~tZ (b) esxk gV~tZ (c) xhxk gV~tZ (d) gV~tZ 

  Microwaves are the electromagnetic waves with frequency in the range of: 

 (a) Micro hertz (b) Mega hertz (c) Giga hertz (d) Hertz 

 9. ,d leku pqacdh; {ks=k esa 60° dks.k ij izos'k djus okys vkosf'kr d.k dk iFk gSµ 1 

 (a) lh/h js[kk (b) oqQ.Mfyuh vkdkj (c) ijcy; (d) o`Ùkh; 

  Path of charged particle entering in a uniform magnetic field at an angle of 60° 
is— 

 (a) straight line   (b) helical 

 (c) parabola   (d) circular 
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 10. bySDVªkWu vkSj izksVksu dh ,d fdj.k ,d nwljs osQ lekarj] leku fn'kk esa pyrh gS] rks os 1 

 (a) ,d nwljs dks vkdf"kZr djsaxh (b) ,d nwljs dks fodf"kZr djsaxh 

 (c) dksbZ laca/ ugha   (d) u rks vkdf"kZr djsaxh vkSj u gh fodf"kZr 

  A beam of electrons and protons move parallel to each other in same direction, 
then they 

 (a) attract each other (b) repel each other 

 (c) no relation   (d) neither attract nor repel 

 11. fp=k esa fn[kk, x, lfoZQV esa] X vkSj Y osQ chp laHkkfor foHkokarj 

gksxkµ 1 

 (a) zero (b) 20 V 

 (c) 60 V (d) 120 V 

  In the circuit shown in the figure, the potential 
difference between X and Y will be— 

 (a) zero (b) 20 V 

 (c) 60 V (d) 120 V 

 12. R izfrjks/ dk ,d rkj blosQ nksxqus rd [khapk tkrk gSA bldk u;k izfrjks/ gksxkµ 1 

 (a) 4 R (b) 
9
R

  (c) 3 R (d) 
3
R

  

  A wire of resistance R is stretched to twice of its original length. Its new 
resistance will be— 

 (a) 4 R (b) 
9
R

 (c) 3 R (d) 
3
R

 

 13. yast dk fu;e fdl fu;e osQ laj{k.k dk ifj.kke gSµ 1 

 (a) vkos'k (b) mQtkZ (c) nzO;eku (d) laosx 

  Lenz's law is a consequence of law of conservation of — 

 (a) charge (b) energy (c) mass (d) momentum 

 14. mPp vko`fÙk osQ fy,] la/kfj=k iznku djrk gSµ 1 

 (a) vf/d izfrfozQ;k   (b) 'kwU; izfrfozQ;k 

 (c) de izfrfozQ;k   (d) buesa ls dksbZ ugha 
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  For high frequency, capacitor offers— 
 (a) more reactance   (b) zero reactance 
 (c) less reactance   (d) none of these 

  funsZ'k (15-18) nks dFku fn, x, gSµ ,d vfHkdFku (A) vkSj nwljk dkj.k (R)A uhps fn, 

x, dksM (a), (b), (c) vkSj (d) esa ls lgh mÙkj pqfu,A 

 (a) A vkSj R nksuksa lR; gS] vkSj R, A dh lgh O;k[;k gSA 

 (b) A vkSj R nksuksa lR; gS R, A dh lgh O;k[;k ugha gSA 

 (c) A lR; gS] ijUrq R vlR; gSA 

 (d) A vlR; gS vkSj R Hkh vlR; gSA 

  Directions (15-18) Two statements are given- one labelled Assertion (A) and 
other labelled Reason (R). Select the correct answer from codes (a), (b), (c) and 
(d) given below. 

 (a) Both A and R are true and R is the correct explanation of A. 
 (b) Both A and R are true and R is not the correct explanation of A. 
 (c) A is true but R is false. 
 (d) A is false but R is also false. 

 15. vfHkdFku (A) % ,d lk/kj.k cSVjh lfoZQV esa] lcls de {kerk dk fcanq cSVjh dk èkukRed 

VfeZuy gksrk gSA  

  dkj.k (R) % /kjk mPp fcnaq osQ foHko dh vksj izokfgr gksrh gS] tSlk fd ,sls lfoZQV esa 

½.kkRed ls /ukRed VfeZuy dh vksj gksrk gSA 1 

  Assertion (A) % In a simple battery circuit, the point of lowest potential is 
positive terminal of the battery. 

  Reason (R) % The current flows towards the point of the higher potential, as it 
does in such a circuit from the negative to positive terminal. 

 16. vfHkdFku (A) % vuqukn ij vkxeukRed izfrfozQ;k oSQisflfVo izfrfozQ;k osQ cjkcj vkSj foijhr 

gksrh gSA  

  dkj.k (R) % J`[kayk LCR lfoZQV esa] vkxeukRed izfrfozQ;k oSQisflfVo izfrfozQ;k osQ cjkcj 

vkSj foijhr gksrh gSA  1 

  Assertion (A) % At resonance, the inductive reactance is equal and opposite to 
the capacitive reactance. 

  Reason (R) % In series LCR–circuit, the inductive reactance is equal and 
opposite to capacitive reactance. 

 17. vfHkdFku (A) % iQksVks fo|qr izHkko izdk'k dh rjax izo`Qfr dks iznf'kZr djrh gSA  

  dkj.k (R) % iQksVks bySDVªkWuksa dh la[;k izdk'k dh vko`fÙk osQ lekuqikrh gksrh gSA 1 
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  Assertion (A) % Photo electric effect demonstrates the wave nature of light. 

  Reason (R) % The number of photoelectrons is proportional to the frequency 
of light. 

 18. vfHkdFku (A) % ckej J`a[kyk fo|qr pqEcadh; LisDVªe osQ n'̀; {ks=k esa fLFkr gSA  

  dkj.k (R) % ckej dk vFkZ gS n`';eku] vr% J`a[kyk n'̀; {ks=k esa fLFkr gSA 1 

  Assertion (A) % Balmer series lies in visible region of electromagnetic spectrum. 

  Reason (R) % Balmer means visible, hence series lies in visible region. 

 

 

 19. oS|qr paqcdh; rjxksa ls vki D;k le>rs gSa\ xkek fdj.kksa osQ nks mi;ksx fyf[k,A 2 

  What do you mean by electromagnetic waves? Give two uses of gamma rays. 
OR 

  fuokZr esa ,d vkorZ oS|qrpqacdh; rjax osQ pqacdh; {ks=k okys Hkkx dk vk;ke B0 = 510 nT gSA 

rjax osQ fo|qr {ks=k okys Hkkx dk vk;ke D;k gS\  

  The amplitude of the magnetic field part of a harmonic electromagnetic wave in 
vacuum is B0 = 510 nT. What is the amplitude of the electric field part of the 
wave? 

 20. ijek.kq ca/u mQtkZ D;k gS\ nzO;eku la[;k vkSj izfr U;wfDy;kWu vkSlr ca/u mQtkZ osQ chp oozQ 

cukb,A    2 

  What is nuclear binding energy? Draw a curve between mass number and 
binding energy per nucleon. 

 21. tc fdlh pkyd ij fo|qr {ks=k (E) ykxw fd;k tkrk gS] rc mlosQ /kjk /uRo (J) vkSj pkydrk 

(σ) osQ chp laca/ LFkkfir dhft,A   2 

  Deduce the relation connecting current density (J) and conductivity (σ) of the 
conductor, when an electric field (E) is applied. 

 22. oS|qr vkos'k dk DokaVehdj.k D;k gS\ LFkwy Lrj ij bldk dksbZ O;kogkfjd egRo D;ksa ugha gSA  2 

  What is quantisation of charge? Why it has no practical consequence at 
macroscopic level? 

 23. xfrd fo|qr okgd cy osQ vfHkO;fDr izkIr djsaA 2 

  Derive expression for motional electromotive force. 

SECTION B 
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 24. ty ls Hkjs fdlh rkykc dh isanh mQij mBh izrhr gksrh gSA vkHkklh xgjkbZ o okLrfod xgjkbZ osQ 

ekè;e ls le>kb,A    2 

  The bottom of a tank filled with water appears to be raised. Explain with the help 
of apparent depth and real depth. 

 25. fuEufyf[kr n'kkvksa esa izR;sd rjaxkjr dh vko`Qfr D;k gS\ 2 

 (a) fdlh fcanq L=kksr ls vilfjr izdk'k 

 (b) fdlh nwjLFk rkjs ls vkus okys izdk'k rjaxkjr dk i`Foh }kjk vojksf/r HkkxA 

OR 

  izdk'k rjaxksa dk O;frdj.k vkSj foorZu esa dksbZ nks varj fyf[k,A  

  What is the shape of the wavefront in each of the following cases: 

 (a) Light diverging from a point source  

 (b) The portion of the wavefront of light from a distant star intercepted by the 
Earth. 

OR 

  Write any two differences between interference of light waves and diffraction. 

 

 

 26. ehVj lsrq dk ukekafdr fp=k cukdj vKkr izfrjks/ Kkr djus osQ fy, vfHkO;fDr izkIr djsaA 3 

  Derive an expression to find out an unknown resistance by plotting a labelled 
diagram of meter-bridge. 

 27. ,sfEi;j dk ifjiFkh; fu;e ifjHkkf"kr djrs gq, fl¼ djsaA 3 

  State and prove Ampere’s circuital law. 

OR 

  ,d lh/k l yackbZ okyk pkyd }kjk vuqHko fd, x, vf/dre cy osQ fy, vfHkO;fDr izkIr djsa] 

ftlesa I /kjk izokfgr gks jgh gS vkSj ,dleku pqacdh; {ks=k B esa j[kk x;k gSA  

  Derive an expression for the maximum force experienced by a straight conductor 
of length l, carrying a current I and kept in a uniform magnetic field B. 

 28. mPpk;h VªkaliQkWeZj o vip;h VªkaliQkeZj esa varj Li"V dhft,A VªkaliQkeZj esa mQtkZ {k; osQ dksbZ nks 

dkj.k crkb,A    3 

SECTION C 
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  Differentiate between step-up and step-down transformer. Give any two reasons 
of energy loss in transformer. 

OR 

  fp=k esa ,d Js.kh c¼ LCR ifjiFk fn[kyk;k x;k gS ftls ifjorhZ 

vko`fÙk osQ 230 V osQ L=kksr ls tksM+k x;k gSA  

  L = 5.0 H,  C = 80 µ F,  R = 40 Ω 

 (a) L=kksr dh vko`fÙk fudkfy, tks ifjiFk esa vuqokn mRiUu djsaA 

 (b) ifjiFk dh izfrck/k rFkk vuquknh vko`fÙk ij /kjk dk vk;ke fudkfy,A 

  In the diagram a series LCR circuit is connected to a variable frequency 230 V 
source. L = 5.0 H,   C = 80 µF, R = 48 Ω 

 (a) Determine the source frequency which drives the 
circuit in resonance. 

 (b) Obtain the impedance of the circuit and the 
amplitude of current at the resonating frequency. 

 29. fizTe esa izdk'k dk viorZu le>kb,A fizTe osQ inkFkZ osQ viorZukad osQ ekiu dk lw=k Kkr dhft,A 
    3 

  Explain refraction of light through prism. Find out the formula for calculating the 
refractive index of the material of prism. 

 30. vkbaLVkbu dk izdk'k&fo|qr lehdj.k fyf[k,A fujks/h foHko] vkifrr fofdj.k dh vko`fÙk vkSj 

nsgyh vko`fÙk esa laca/ LFkkfir dhft,A  3 

  Write Einstein’s photoelectric equation. Find a relation between cut-off potential, 
frequency of the incident light and threshold frequency. 

 

 

 31. vkjs[k esa n'kkZ, vuqlkj nks ifV~Vdkvksa osQ chp osQ izns'k esa dksbZ bySDVªkWu iqUt {kSfrtr% 

3 × 107 m/s osx ls xfreku gSA bu ifV~Vdkvksa osQ chp dksbZ mi;qDr foHkokarj vuqiz;qDr fd;k 

x;k gS rkfd bySDVªkWu iqUt fupyh ifV~Vdk osQ fdukjs ls Bhd ls Bdjk,A 

 

  mi;qDr osQ vk/kj ij fuEu iz'uksa osQ mÙkj nhft,µ 

 (a) fdukjs ls Vdjkus esa dksbZ bysDVªkWu fdruk le; ysxk\ 1 

SECTION D 
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 (b) bysDVªkWu osQ iFk dh vko`Qfr D;k gS vkSj D;ksa\    1 

 (c) vuqiz;qDr foHkokUrj Kkr dhft,A     2 

OR 

  ifV~Vdkvksa osQ chp izns'k esa ml pqEcdh; {ks=k osQ ifjek.k vkSj fn'kk dks Kkr dhft, ftls bysDVªkWu 

iqUt dks fcuk fo{ksfir gq, lh/s tkus osQ fy, mRiUu fd;k tkuk pkfg,A  

  A beam of electron moving horizontally with a velocity of 3 × 107 m/s enters a 
region between two plates as shown in figure. A suitable potential difference is 
applied across the plates such that the electron beam just strikes the edge of the 
lower plate. 

 

  Answer the following questions based on the above: 1 
 (a) How long does an electron take to strike the edge?   1 
 (b) What is the shape of the path followed by the electron and why?  2  
 (c) Find the potential difference applied.  

OR 

  Find the magnitude and direction of the magnetic field which should be created 
in the space between the plates so that the electron beam goes straight 
undeviated. 

 32. U;wVªkWu vkSj izksVkWu bl vFkZ esa leku d.k gS fd mudk nzO;eku yxHkx leku gS vkSj cy] ftls 

ijek.kq cy dgk tkrk gS] mUgsa vyx djrk gSA ijek.kq cy lcls 'kfDr'kkyh cy gSA ukfHkd dh 

fLFkjrk U;wVªkWu&izksVkWu nzO;eku {kfr vuqikr }kjk fu/kZfjr dh tkrh gSA ukfHkd osQ vkdkj dh x.kuk 

prq/qzZo vk/w.kZ }kjk dh tkrh gS vkSj ukfHkd dk ?kweuk le ;k fo"ke nzO;eku la[;kvksa ij fuHkZj 

djrk gSA ukfHkd dk vk;ru nzO;eku la[;k ij fuHkZj djrk gSA ijek.kq dk laiw.kZ nzO;eku (yxHkx 

99%) ukfHkd ij osQfUnzr gksrk gSA 

 (d) ukfHkdh; cy ls vki D;k le>rs gSA     1 

 ([k) nks izksVkWu osQ chp yxus okyk cy izksVkWu vkSj U;wVªkWu osQ chp yxus okys cy osQ leku gSA cy 

dh izo`Qfr gSµ 1 

 (a) fo|qr cy (b) detksj ijek.kq cy 

 (c) xq#Rokd"kZ.k cy (d) etcwr ijek.kq cy 

 (x) ,d ijek.kq esa lHkh U;wfDy;kWu fdlosQ }kjk /kj.k fd, tkrs gSA   1 

 (a) Vsalj cy (b) pqacdh; cy 

 (c) ukfHkdh; cy (d) owQykWe cy 
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 (?k) ukfHkd dh f=kT;k nzO;eku la[;k ls fdl izdkj lacaf/r gS\   1 

OR 

  nks ijek.kq ftudh nzO;eku la[;k,¡ 1 : 3 vuqikr esa gS] mudk nzO;eku /uRo fdl vuqikr esa gksxkA  

  Neutrons and protons are identical particles in the sense that their masses are 
nearly the same and the force called nuclear force, does distinguish them. The 
nuclear force is the strongest force. The stability of the nucleus is determined by 
the neutron proton ratio mass defect. The shape of the nucleus is calculated by 
quadruple moment and the spin of the nucleus depends on the mass number. 
The whole mass of the atom (nearly 99%) is centered at the nucleus. 

 1. What do you understand by nuclear forces?   1 

 2. A force between two protons is same as the force between proton and 
neutron. The nature of force is—     1 

 (a) electric force (b) weak nuclear force 

 (c) gravitational force (d) strong nuclear force 

 3. All the nucleons in an atom are held by—   1 

 (a) tensor forces (b) magnetic forces 

 (c) nuclear forces (d) coulomb's forces 

 4. How is the radius of nucleus related to the mass number? 1 

OR 
  What is the ratio of the nuclear densities of two nuclei having mass number in 

the ratio 1 : 3 ? 

 

 33. fdlh p-n laf/ Mk;ksM osQ (i) vxz ck;lu vkSj (ii) i'p ck;lu esa V-I vfHkyk{kf.kd vè;;u 

djus osQ fy, ifjiFk O;oLFkk vkysf[kr dhft,A fdlh flfydkWu Mk;ksM dk iz:ih V-I 

vfHkyk{kf.kd [khafp,A 

  i'p fnf'kd ck;lu esa Hkatu oksYVt dks la{ksi esa crkb,A 5 

  Draw the circuit arrangement for studying V-I characteristics of a p-n junction 
diode in (i) forward biasing and (ii) reverse biasing. Draw the typical V-I 
characteristics of a silicon diode. Describe briefly the breakdown voltage in 
reverse biasing. 

OR 

  fdlh p-n laf/ Mk;ksM cuus esa lfEefyr nks egÙoiw.kZ izozQeksa osQ uke fyf[k,A ifjiFk vkjs[k dh 

lgk;rk ls v/Z fn"Vdkjh osQ :i esa fdlh laf/ Mk;ksM dh dk;Zfof/ dh O;k[;k dhft,A blosQ 

fuos'kh vkSj fuxZr rjax:i [khafp,A    

SECTION E 
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  Name two important processes involved in the formation of a p-n junction diode. 
With the help of circuit diagram, explain the working of junction diode as a half 
wave rectifier. Draw its input and output waveforms. 

 34. fdlh la;qDr lw{en'khZ dh dk;Zfof/ dks n'kkZus osQ fy, fdj.k vkjs[k [khafp,A fudV fcanq ij vafre 

izfrfcEc cuus dh fLFkfr osQ fy, oqQy vko/Zu osQ fy, O;atd izkIr dhft,A 5 

  Draw a ray diagram to show the working of a compound microscope. Obtain the 
expression for the total magnification for the final image to be formed at the near 
point. 

OR 

  iw.kZ vkarfjd ijkorZu D;k gS\ iw.kZ vkarfjd ijkorZu dh ifj?kVuk osQ laHko gksus osQ fy, vko';d 

'krks± dh mYys[k dhft,A vko';d vkjs[k dh lgk;rk ls la{ksi esa Li"V dhft, fd iw.kZ vkarfjd 

ijkorZu dh ifj?kVuk dk mi;ksx izdkf'kd rUrqvksa esa oSQls gksrk gSA  

  What is Total Internal Reflection? State the essential conditions for the 
phenomenon of total internal reflection to take place. Explain briefly with the 
help of a necessary diagram, how the phenomenon of total internal reflection is 
used in optical fibres. 

 35. xkmQl dk fu;e iz;ksx djosQ R f=kT;k okys ,dlkeu vkosf'kr xksyh; [kksy osQ dkj.k 

(i) ckgj (ii) vkSj [kksy osQ vanj ,d fcanq ij fo|qr {ks=k osQ fy, vfHkO;fDr fudkysA 

  {ks=k dh fHkUurk dks n'kkZus okyk ,d xzkiQ [khafp, r > R vkSj r < R dk iQyu (r nwjh gS [kksy osQ 

osaQnz ls)A    5 

  Using Gauss’s law deduce the expression for electric field due to a uniformly 
charged spherical conducting shell of radius R at a point (i) outside and 
(ii) inside the shell. 

  Plot a graph showing variation of electric field as a function of r > R and 
r < R (r being the distance from the centre of the shell). 

OR 

  la/kfj=k fdls dgrs gSa\ ,d lekUrj iV~V la/kfj=k osQ IysVksa osQ chp ijkoS|qrkad K dk ekè;e 

vkaf'kd :i ls Hkjk gqvk gSA bldh /kfjrk dk O;atd izkIr dhft,A vko';d fp=k cukb,A  

  What is a capacitor? Derive an expression for the capacitance of a parallel plate 
capacitor in which a dielectric medium of dielectric constant K partially fills the 
space between the plates. Draw the necessary diagram. 

 


